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= #* TAIPEI — £ * KINMEN

£ * KINMEN — ¢ # TAIPEI

R AP | Fx | g | Pl HEP Y B3 B3 #F AP | Fix | g | Tl HEPY | k=2
Airlines FLT. DEP. | ARR. FLD. Aircraft Note Airlines FLT. DEP. | ARR. FLD. Aircraft Note
> % |UIA| B7881 [06:40[07:50| - = =2 7 = p AT7 > %) UIA | B7882 108:30[09:40| - ==z 2= 7 = p AT7
> % |UIA| B7883 [07:20[08:30| - = =2 7 = p AT7 a8 | TNA | GE232 |09:05{10:20| - = =2 T~ P AT7
42 2 | TNA| GE231 |07:30{08:40| - = =2 7T~ P AT7 > %) UIA | B7884 [09:15]10:25| - = =z2 7 = p AT7
ik & |FEA| FE061 |07:40]{08:45| - = =2 7~ P M82 #1; | MDA |AE1262(09:40[10:35| - === 37 > p E90
# |[MDA|AE1261[07:50[{08:45| - = =2 T = p E90 a8 | TNA |GE2322|10:35[11:45| - =2 T~ P AT7
42 2| TNA| GE233 109:00{10:10| - = =2 7T~ P AT7 > %) UIA | B7886 [12:10]13:20| - ==z 2= 7 = p AT7
> % |UIA| B7885 [10:10[11:20| - = =2 T = p AT7 a8 | TNA |GE2342|12:25[13:3b| - =2 T~ P AT7
42 8 | TNA| GE235 |10:45[12:00| - = =2 7T~ P AT7 #15| MDA |AE1264[12:40(13:35| - === 7> p E90
> % |UIA| B7887 |10:55/12:05| - = =2 7 = AT7 > % UIA | B7890 {14:20|15:30| - = =w T = P AT7
#1 [MDA|AE1263]11:05[12:00| - = =2 7 = P E90 2% | TNA | GE236 |14:35|15:45| - =2 T~ P AT7
42 8 | TNA|GE2351|12:10{13:20| - = =2 T~ P AT7 itk & | FEA | FE062 [15:10]16:15| - ==z 2 T = P M82
> % |UIA| B7889 |12:30|13:40| - = =2 7> AT7 422 | TNA | GE238 |15:50|17:00] = --«e--- I+F AT7
4 2| TNA| GE237 |13:00({14:10| - = =2 7T~ P AT7 = %) UIA | B7894 [16:30[17:40| - ==z 2= 7 = p AT7
#1 [MDA|AE1271(13:10]{14:05| - ...... .. P E90 itk & | FEA | FE068 [16:40|{17:45| - = =2 T = P M82
422 | TNA| GE239 |14:10[15:20] = -e-v-e--- =P AT7 #13| MDA [AE1272[17:30]18:25| - =2 7T = P E90
> % |UIA| B7891 |14:40|15:50| - = =2 7 = p AT7 2| TNA | GE240 |18:10]19:20| - = =2 T~ P AT7
#1 |[MDA|AE1271[14:50[15:45|.. = =2 = ...... E90 12/16.17. 184 D1535-1630A = %) UIA | B7896 [19:05]20:15| - = =z2 7 = p AT7
i% & |[FEA| FE067 |15:00/16:05| - = =2 7 = p M82
#13 [MDA|AE1271(15:35]16:30] .......... .. E90
= 2| UIA| B7895 [17:10[18:20] - = == 7 = P AT7
e % TAICHUNG — £ ™ KINMEN £ * KINMEN — 2 ¥ TAICHUNG
Bz AP | Fx | gk | P #i7pH 3 A wE AP | rix | g | DR KiTpH 3 %3t
Airlines FLT. DEP. | ARR. FLD. Aircraft Note Airlines FLT. DEP. | ARR. FLD. Aircraft Note
= % |UIA| B7681 [07:00({08:00 - = =2 T = p AT7 = %) UIA | B7682 [08:40[09:40| - = == 7 = p AT7
#1 [MDA| AE763 |07:35]/08:30| - = =2 7 =~ p E90 #1 | MDA | AE764 [09:30[10:25| - === 37 > p E90
= % |UIA| B7683 [08:30[{09:30| - = =2 T = p AT7 ik & | FEA |FE1052|11:35/12:25| - = =2 1 = M82 12/04 #<# 1000/1050
> % |UIA| B7685 [10:10[11:10| - = =2 T = p AT7 = %) UIA | B7686 [11:50[12:50| - === 7 = p AT7
ix & |FEA|FE1051]13:10{14:00| - = =2 7~ P M82 > %) UIA | B7688 |15:10]16:10| - = == 7 = p AT7
> % |UIA| B7687 [13:30[14:30| - = =2 T = p AT7 = %) UIA | B7690 |15:45]16:45| - = =2 7 = p AT7
#12 [MDA| AE765 [14:50]15:45| - = =z 2= 7 = P E90 12/16.17. 18. 20 &D1230-13254 #15| MDA | AE766 [16:30|17:25| - = =2 7T~ P E90 12/16. 17. 18. 20 #D1400-14554
#12 |MDA| AET69 [16:20]17:15] - 7., P E90 12/19. 26. 284 D1755-18504 #15| MDA | AE770 [17:45]|18:40| - .. P E90 12/19. 26. 28 #D1920-2015A
> 2 UIA| B7689 [16:50[17:50] - = == 7 = P AT7 > %) UIA | B7692 [18:30]19:30| - = == 7 = p AT7




B 2 KAOHSIUNG — £ * KINMEN

£ KINMEN — 3 2 KAOHSIUNG

A AF | F& | gk | 3 #p0 #3 A R AP | oA | g% | FR HEPH 1 L2
Airlines FLT. DEP. | ARR. FLD. Aircraft Note Airlines FLT. DEP. | ARR. FLD. Aircraft Note
= ¥ UIA| B7871 |106:40/07:40| - = =z » 37 = P ATT = 3| UIA | B7872(08:20/09:20| - = == 7 = p ATT
% 2| TNA| GE207 [09:00]{10:00| - = =2 7 = P ATT 12 2| TNA | GE206 |10:30|11:30| - = == 7 = p ATT
= ¥ |UIA| B7873 109:55/10:55| - = =.. 3 » P ATT = 3| UIA | B7874 [11:40]12:40| - = =..3 » P ATT
it L |FEA| FE091 [10:10[11:00| - = =22 1 = p M82 12/04#c 4 0830/0925 42| TNA |GE2062(12:30(13:30| - === 7 = p ATT
# 2 | TNA|GE2071|11:00[12:00| - = =2 1 = p ATT % 2| TNA |GE2066|13:55/14:55| - = =2 3 = P ATT
= B |UIA| B7875(13:40|14:40| - ==z 2 7 = P ATT 12/18 4rgrs-ij it & | FEA | FE092 |14:35/15:25| - = =2 7 = P M82
# 2 | TNA| GE209 |13:55[14:55| - ==z w1 = p ATT 2| TNA | GE208 |15:20(16:20| - ==z 2w 7 = P ATT
# 2 | TNA|GE2091|15:20[16:20| - = = 2w 7 = p ATT = %] UIA | B7876 |15:35|16:35| - = =2 7 = P ATT 12/18 érsrs-if
# 2 | TNA|GE2093|16:45[17:45| - = =2 1 = p ATT % 2| TNA |GE2082]|16:45|17:45| - = =2 37 = P ATT
= % UIA| B7877 117:10/18:10| - = = » 7 = @ ATT = 3| UIA | B7880 [18:50/19:50| - = =w 7 = p ATT
£ % CHIAYI — 4 * KINMEN 4 P KINMEN —£.% CHIAYI
Rz AP | | s | Rl #7pH # 3 A Rz ad | Pk | &g | 3R #17p I 1 B3
Airlines FLT. DEP. | ARR. FLD. Aircraft Note Airlines FLT. DEP. | ARR. FLD. Aircraft Note
= % [UIA] B7953 [14:10[15:00[ - = = w 7 = p ATT 2] UIA | 10:10 [11:00/= 2w 7] - =2 57 2 p AT7
= 3 TAINAN — & ® KINMEN £ F KINMEN— 5 @& TAINAN
Rz AP | | s | Rl #7pH # 3 A Rz ad | Pk | &g | 3R #17p I 1 B3
Airlines FLT. DEP. | ARR. FLD. Aircraft Note Airlines FLT. DEP. | ARR. FLD. Aircraft Note
= #|UIA| B7931 [09:35(10:25| - = =z = 7 AT7 = # | UIA | B7932 [11:00(11:50| - = =22 7 = p AT7
= % UIA| B7933 |12:30(13:20| - = = 2= T ATT = 3| UIA | B7936 |13:55|14:45| - = =z 2w 7 = P ATT
= 2 |UIA| B7937 |15:20(16:10| — = = = 7 ATT = 2| UIA | B7938 [17:00/17:50| — = == 7 = P ATT
5 >*MAGONG — £ KINMEN £ ® KINMEN — 5§ =~ MAGONG
RE AP | Fk | x| P P 3 B AP | FiE | s | Rl ®EpH 3] #3
Airlines FLT. DEP. | ARR. FLD. Aircraft Note Airlines FLT. DEP. | ARR. FLD. Aircraft Note
1 # | TNA|GE2004[11:40{12:20| .. = .. =. ATT 42 2| TNA |GE2003|12:50(13:30| .. = .. = .. = ATRT2
TR R BI% R £y
45 g N D HLAR mEAP |2EPR| 2PA 4P| 4P -
’ioé' 449%1‘23 HhE 2,297 | 1, 2,188 | 1,392 ﬁ. Fa
( 2)44981: . & (082)322-381 shgp et | 2,445 | 1, 2.320 | L4830 R
2R 7 o 2\8770-3460 - 2,409 | 1, 2,294 | 1,460
(02)25086999 w7 (02) 2,255 | 1, 2,148 | 1,367 zﬁ
Erans A ¥ (04)2615-5000 aE 2,140 | 1, 2,038 | 1,296 |
Pl 3+ 05)2867-886 Faer | 2% 2,335 | 1, 2,224 | 1,413 3@ Je
(02)4128008 £ % (05) Coss | L Ce03 | 1205 X
Bod s o P ooR (06)260-1016 =w | 2101 1, 2,087 | 1,327 ‘Fﬁ' ﬁS
(02)87707999 Bz (07)8057-630 g 16 2,295 | 1, 2186 | 1,991 | ,le.
N (06)9229-123 1,400 [ 2, 1,333 | 1,905 N
&z LE—>4P | 2% 2,186 | 1, B 2,082 | 1,324
>4 | 2 X 2,193 | 1,393 [gr—>cg | =% 2,089 | 1,327
E§2->4PF| HE 1,453 | 1,122 [4r>852| as 1,453 | 1,122




